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(3) 394 Fisher’s &/ ¥ £ &£ (least significant difference, LSD) £
Tukey’s N EBR¥ £ B & (honest significant difference, HSD) # 47 #
HMEALBZARBRAGET - S 2)
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BFaa=98 (& PRE - HELE) #A RSB RI (completely
randomized design, CRD) #4734 W E RSB E20BALHFERE (B
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fr: AR BEEFHLT
BARMI | EAE | HRAPHME | HAES

& 10 332.00 1601.11

THRE. 9 363.89 1629.86

S 8 426.25 1656.25

(DHALEFTHF IR TS ERRANREYFRARENYF (104)
@Q#A Q) B8R HE TEEEHA, £ TERES R, FEHE
PGB EEMIERERM (3% a=0.05; foos2e = 2.064) (10 %) - RIBIEH

EMIELRTHEERALERIC )

. TRERBZH S5 —EHRE LA % (two-stage nested design) > 8 F

4 (ANOVA) s Xdo F ¢
Yipg = H + Ai + Bj(,-) + €k EPi=l..,aj=1..,0k=1..,n.

ABHBEFEREMYEF K4 ~ N0,03);B,, ~ N(0,03)se; ~ N(O0,02) 3

A,Byye, AL - R F AT a=3b=4n=3; FFk
SSA=14.5,8SB(A4)=70.3,SSE =60.7 -
(1) HAE005BREKRET B H,:0,=0vs. H 020 (10 %)
() HAE005SBEEKRET » o2 H, 0l =0vs. H:05#0 (10 %)
(3) ¥+ % o 49 ANOVA 254434l ( point estimate) (5 %7)
381 Fypyp0=0.26F, 1015 =3.86F, 45 65=3.37:Fy 0555 =3.18
Foos2,12=3-89:Fy g53,1,=3.493F, 05,6.12=3.00;Fy 45,5, =2.80
Fy05224=340:Fo 053,20 =3-013F 5 624 =25 13Fy 05,954 =2.30
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RCBD) T #ATREH =28 A-B HEFR% > L& (level) HHH B
a=3 R b=2- FHAZAuMEaEBABRAREZLSL):

(BEH A)
BlockI Block II
A1By AsBy AaBy A3B2 A2Ba As3B,
A2B2 AiB: AszB2 AiB) AiB2 A2By
(& H B)
Block I Block II
AiB A3B2 A2B; A3Bi A2B1 AiB2
AiB2 A3By A2B2 AsB2 AzB2 AiBy
(mEE O
Block I Block I
AzBy AsBy ABy AsB2 A1B2 AzB,
A2B> A3B2 A1B2 AsBi A1By A2B,y

(1) #3444 B -F#%3t (factorial design) syw MEEH & 3 H & £ ANOVA
ATHyBE L% (SOV) Ra &k (DF) - (10 %)

(2) #iEIEE B (strip-plot design) ¢y W R EE * 5 HE ANOVA
AT ERK (SOV) RadE (DF) - (104%)

B) FUEBRERHGBELBRAMBECTMTHRER GRS H)

AR SHE

2
P




